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Circle the better deal in each pair. Then give the unit rate for the better deal
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6. On arecentday, 8 euros were worth S9 and 24 euros were worth $27.
Mrite an equation of the form y = kx to show the relationship between
the number of euros and the value in dollars.
, where y is dollars and x is euros
v graph shows the number of servings in different Frozen Yogurt
zmounts of frozen yogurt listed on a carton. Write an -
eguation that gives the number of servings y in x pints.
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8. & refresnment stand makes 2 large servings of frozen 5
-~ 5urt from 3 pints. Add the line to the graph and write _ o
its equation. 0O 2 4 6 8 10
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i ESSENTIAL QUESTION_

9, How canyou useratesto determine whether a situationisa proportional
relationship?
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MODULE Quz

Solve each inequality,

1.n+7« -3

3. 14< k- 11

3. c—-25<25
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2. 5p > 30
d
4. - < -6
—J
6. 12> -3p

7. Jose has scored 562 points on his math tests so far this semester, To get
an A for the semester, he must score at least 650 points. Write and solve
an inequality to find the minimum number of points he must score on the

remaining tests in order to get an A.

8. During a scuba dive, Lainey descended to a point 20 feet below the ocean
surface. She continued her descent at a rate of 20 feet per minute. Write an
inequality you could solve to find the number of minutes she can continue to
descend if she does not want to reach a point more than 100 feet below the

ocean surface.

Solve.

9. 25+3>15

11. —6w — 18 > 36

13. 3*34< -36

| ESSENTIAL QUESTION

d
12. %—%—22§38
14. —2p+12>8

15. How can you recognize whether a real-world situation should be represented

by an equation or an inequality?
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Module Quiz: D

1. What is the solution
below?

to the equation

0.5x = 6
A 3
B 12
C 60

2. Alyson opened a savings account with
$100. She saves $50 per month. Which
of the following equations can be used to
find how much money she has in her
account after x months?

A 100 + 50x =
B 50+ 100x =
C 600+ 50x =

3. Whatis the value of
equation below?

¥ that satisfies the

L
5 =9

A 45
B 9
C 18

Computer he selis plus a base salary of
$50,000. His total income [ast year was
$75,000. Which €quation can be yseq to
find how many computers Eg sold last
year?

A 50,000 + 100x = 75,000

B 50,000 - 100x = 75,000

(& 75,000 + 100x = 50,000

. Jason pays a $100 installation fee and
a $40 monthly service charge for hig
telephone. Which équation shows the
amount that Jason pays for x months

Date o

_ Class

————————

6. There are 60 members in the school glee

10.

Club. The glee club needs to raise $5,000
for a trip to a national competition. The
school agreed to contribute $1 .000
toward the trip. Which of the €Quations
below shows the amount of money that
each glee club member needs to raise to
help pay for the trip?

A 60x + 1,000 = 5,000
B 60x+ 5,000 = 1,000
C 1,000x + 60 = 5,000

. Which of the following shows the

simplification of 0.5 x
Distributive Property?

A 2a+3p
B 3a+2p
C 45a+86.5p

(42 + Bb) using the

. Which of the following ratios is equivalent

to 1:2?

A

B

C

olh o|w ENTN)

. Which of the following values does not

satisfy the equation x — 2=357
A st
2
B 55
C 15
Colton’s Gym charges an initiation fee of

$40 plus a monthly fee of $50. Which
of the equations below shows the cost

of telephone service? ¢ of joining the gym for m months?
A ¥=40+ 100x A €=50+40m
B y=100+40x B ¢=40+50m
C y=100-40x C ¢=40-50m
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